3% = = =l = = o
=A
, 24
=Bt
18 =
, 4
83
[e]
=
A
, B
EO]
Q
06]-
]4—
it o e
™
H

@® AB?
@ A3B
® AB?
@ A%B
® A%B?



Tx—[5x—{2y — 4(x = 3y) }] B 3] 2 ll, x o] Aoty o] Al

@e?

O 12 @ 11 @ 10 @ 9 ® 8



X7)2 = (x3)2 = x10

(

(3a®b)? + a®b = 9ab

(2x% +5x=T7) 4+ (=3x> + 6x +6) = —x2 + 11x + 2
(

6ab + 4a?) + 2a = 3b + 2a

® -3x(2x—y) + 9x? = 15x% + 3xy



4.  (8a’b—4ab?)+(-4b)+ (3a—2b) xa+ax (=3b) Q1 o] T}, a = -2,
b=-3 A Ao g2

® -26 @ -20 ® -10 @ 4 ® 20



5. x7b0, 1,2, 3 4, 54 0], 854 2x+7 2 5x+ 169 S
Tstofet,

D g
o=



6. HS5A x-3>4x+3 9 =2

D x>2 @ x<2 ® x<?2

@ x<-2 ® x>-2



ol

|

s
ER!

(a, b= 35, a+0) 9] EZ UE

<

o

o

@ A%

<

B
<f



)
—_

@ 5 ®7 @ 8 ® 9

@ 3



@ 5



10.

U L

£P252 Y, st 248 2% RotA
L B E 2R "ol To] 047 o] it



2x-1
1L (3) =or2 & v o] g Fotele






—_—
1jo
To
N
]

<
™o

(a-2)

3a
2

(a® - 3ab) =+

13.

3
1

11
@ KCI—

b

3

3
10yt
—a--b

11
@ —Ka +

®

11 13
—a—-—>b
~Zp
71

O -
@ -



2—x a+x

o] 3 4 ()
- y <39 oﬁ7}3(§x—2)>2x—14

afo} 22 uf, a 9] gHe Foolat.

14. xof B3 BS54



A 7e) o] 7 3 <)

A

2 UehfE A



S vebd o), 243 okl 204 2tel o] £ a, 99

[e]
=4

© |~

_5'\_
7 A2le) 2 pat

il

,a+b 9 F2?

St
=

12

@ 9 ® 10 11

@ 8



op

® 0,1,2,3,---

A
T
_1

® -1.5,

, 0, 24,7

(ap)



18. x<4 L, -2x+1 9] 7k HY=?

O -2x+1<-7 @ -2x+1>-7 ® -2x+1<7

@ -2x+1>7 ® —2x+1<7



ol

o|J
o8

ol
Nfo

ojn

(o]
3
= I
I 2l =
E RN
=% S
N =
DRIk X
[rel
la e & Slads
< s — 2 T
S X X
VA o o~ VA ._.
~ — _~ N
— nm e
| % NI NI
~— ~—" ~— /l\ S~—



20.

BEMNax-2>-69 W7t x<12 4 0, ¢ 9] 3t2?



